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int C(int N, int K)

{

if (K==0)|(K==N))
return 1;

else if (K> N)
return O;

else
return C(N-1, K-1) + C(N-1, K);

}
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topSort (input Graph, output List)

s=createStack();
for (all vertices v in the graph)
if (v has no predecessors) {
Push v into s;
Mark v as visited;}
while (s is not empty) {
if (all vertices adjacent to the vertex v on the top of the stack have

been visited) {
Pop v out of s;

Output v;
}else {
Push each unvisited vertex u adjacent to vertex v into s and
mark uasvisited; // ;L& T § F - BUF uEHPF 0 AR
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